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QUESTION 1

You have entered the command

set ffilter src-ip 1.1.7.250 dst-ip 10.1.10.5 ip-prot 6

What will be the resulting output in the debug for which this was created?

A. If the packet has a scr-ip of 1.1.7.250 or a dst-ip of 10.1.10.5 or has TCP as its protocol then it will be captured

B. If the packet has a scr-ip of 1.1.7.250 or a dst-ip of 10.1.10.5 or has UDP as its protocol then it will be captured

C. If the packet has a scr-ip of 1.1.7.250 and a dst-ip of 10.1.10.5 and has TCP as its protocol then it will be captured
D. If the packet has a scr-ip of 1.1.7.250 and a dst-ip of 10.1.10.5 and has UDP as its protocol then it will be captured

Correct Answer: C

QUESTION 2

You want to centralize the logging for all your ScreenOS devices and you must be able to synchronize the log. Which
two actions would you perform to accomplish this? (Choose two.)

A. Enable logging to the console.

B. Enable logging to syslog.

C. Enable NTP and set to UTC/GMT time.
D. Enable logging to the USB.

Correct Answer: BC

QUESTION 3

Policy-based routing (PBR) policies can be bound to which three ScreenOS objects? (Choose three.)
A. virtual routers

B. interfaces

C. zones

D. security policies

E. virtual system

Correct Answer: ABC
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QUESTION 4

Which NAT has bidirectional translation by default?
A. NAT-src

B. NAT-dst

C.VIP

D. MIP

Correct Answer: D

QUESTION 5

You enter the following commands: snoop filter ip dst-ip 1.1.1.10 snoop filter ip src-ip 2.1.1.10

What is the net result of these settings?

A. Only packets with both a dst-ip of 1.1.1.10 and a src-ip of 2.1.1.10 will be captured

B. Packets that have either a dst-ip of 1.1.1.10 or packets with a src-ip of 2.1.1.10 will be captured

C. The second command will be ignored since a second filter cannot be added until the first one has been deleted

D. The second command you entered will overwrite the first command you entered so you will only capture traffic with a
src-ip of 2.1.1.10

Correct Answer: B
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